9. Fly-High Airlines sells business class and tourist class seats for its charter flights.

b. To charter a plane at least 5 business class tickets must be sold and at least 9
tourist class tickets must be sold. The plane does not hold more than 30
passengers. Fly-High makes 540 profit for each business class ticket sold and 545
profit for each tourist class ticket sold. In order for Fly-High Airlines to maximize its
profits, how many tourist class seats should they sell?
hebosnes | Peyobeuss  Foits: (5,9)
b touricr 4 (5,38)
» \
bz2$S (-2[ 1
>
EE Pegfi HO($)+¥S(4 605
b+t €30 Ho(s)+yyrs)y= 132
V ol anyy %’/1)5 1245
Solve by substitution ) \ < (Y =1
I ) ALY s > _$
ax+dy=1 Xe3y* ( .’h b -3xl8y=20" (e Mox ="|325]
SR A : RN e
3 ¥ :—D ~2 g sxa )20 \ " = ek =
Solv’e(b\(}ellmination . \”? e -3x- .‘,"ECS;Q ! 3,3 220\, / i ‘hd’f'k'
”.(5.\' +yv= 9\ 2 - |OR=y = lg‘ b. hn —1J\ +9y =\Q Ny B
10x-7y=-18 ¢ 90X 7,4 3 (x=3v=-6) q9)-3y=-6
o -;‘ x-7y 18 L
SXH (D7 K - 5
SxeS xel  CAmS* (/“f} 2 7O
Is(3,5)asolut10ntothe sys tem{ = —2°
sz 2= TS ‘ :
B-()=2; 70 @~
http://www.mathportal. orglcalculators/system—of equations- solver/system -2x2.php http://www.purplemath.com/modules/linprog3.htm

Pee

N, € 9 '-ﬁcj' N
K
Find the coordimates of the vertices of the figure

equaiin
510 regio all
0 S - formed by each system of megualities.
\Qc 37‘_\(4 ;) o b) _\>~ i . | v > =5 J a s, 4 o
x g 3 ~ y Sm=x+7 x<4 & A\ Q
> ( S ~ yEu-4 Wysr249 Y 27X°1
— . - b
flx X A} 3

2 *
P N

3) Graph the system of inequalities or equations, then-give.amn Given belo
feasi

A

= &f

Write the system of inequalities that best represents this graph?
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6) A rectangular frame is to be designed in such a
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10) Write the inequality for the graph: of 15 inches. Write a system of inequalities to
- e represent the dimensions of the frame.
Use I for length and w for width
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2. Find the values of x and y that maximize the objective function P = 3x + 2y for the graph. What is the
maximum value?
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10. The VBC Company makes two models of office chairs. The company's profit is $13 on each Model Q chair
and 520 on each mode! R chair. To use linear programming to maximize profit, the company's finance officer
developed this feasible region from the constraints on the company’s resources and the pattem of demand for its
products. The number of Model Q chairs to be made each week is rep d by x and y rep the number
of Model R chairs to be made each week. How many of each model should the company make each week in
order to maximize profit? Do R +20F
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9) Ace Guitars produces acoustic and electric guitars.
Each acoustic guitar yields a profit of $30, and
requires 2 work hours in factorv A and 4 work hours
in factory B. Each electric guitar yields a profit of $50
and requires 4 work hours in factory A and 3 work
hours in factory B. Each factory operates for at most
10 hours each day. Graph the feasible region. Then,
find the number of each type of guitar that should be
produced each day to maximize the company’s
profits. P=30a + 508
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18. On a feasible region whose vertices are (2,10), (3.7), (5.6) (6,4), what is the mi_n_imggrof the objects
function R=6x-4y, and where does 1t occur? >
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14. What is the solution of the system shown in this graph?
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